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2,558
2,559

736

442
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SN AT
M Mg st
el MEEUSBEY CRE-E)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
< 147
i 147
— =l 100,000 100
2 60
= 20
[ 20
307 QIZ2t0IA 27,255 28,024 AT69
= 16,353
= 5,451
s 5,451
02 A4S X 27,255 28,024 AT69
O==a204yold X 27,255,000 27,255
= 16,353
< 5,451
s 5,451
Asay 2tel 120,000 353,034 A~ 233,034
401 AIEHIZLROYI 120,000 270,000 A 150,000
01 Al&HI 120,000 270,000 A 150,000
OZE NASYY FXE SSBA
120,000,000 120,000
=NEEHIS 391,000 339,000 52,000
& 117,300
i 273,700
401 AIEHIZ 2O 391,000 339,000 52,000
& 117,300
= 273,700
01 A&l 386,000 328,830 57,170
o2 =ME8gd =4 386,000,000 386,000
< 115,800
fiis 270,200
03 A& =0 5,000 10,170 25,170
O2d4d =HE8d =4 5,000,000 5,000
= 1,500
i 3,500
HHs LS AR HY 300,000 0 300,000
401 AIEHIL2OY| 300,000 0 300,000
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SN AT
M Mg st
el MEEUSBEY (sl &2
SN HH G (EH) - MBAY - BYS Ak Soe s
01 AlZH| 298,000 298,000
OZSHAF 2 Xl ope
298,000,000 298,000
03 AlZ=0Hd] 2,000 2,000
OZSMNAFTALE AR H 2,000,000 2,000
MEMEOIE 24 95,000 95,000
s 86,000
L= 4,500
= 4,500
401 Al&HIZL =20 95,000 95,000
s 86,000
= 4,500
= 4,500
01 Al&HI 92,150 92,150
OMEMEIDISEL (82
92,150,000 * 1IH 2 92,150
s 83,420
& 4,365
i 4,365
03 AIZ=C0HHI 2,850 2,850
O ZEMEHOIES R & = 2,850,000 2,850
s 2,580
< 135
i 135
SAEMEHOIES 22 30,000 30,000
401 A& HIZ 20| 30,000 30,000
01 Al&HI 30,000 30,000
OHSAHENS SSAL 2STA
30,000,000 30,000
HIOHAZ =4 100,000 100,000
= 50,000
& 25,000
= 25,000
401 A& HIZLROY| 100,000 100,000
= 50,000
L= 25,000
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SN AT
M Mg st
el MEEUSBEY (sl &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
401 Al HIZ 20| i 25,000
01 Al&HI 97,000 0 97,000
Oz 34t HOtAHE =4 97,000,000 * 1902 97,000
= 48,500
< 24,250
fiis 24,250
03 A& =0 3,000 0 3,000
Oz sS4t Hiotetd =4 3,000,000 3,000
= 1,500
= 750
i 750
=ZA2EXA 28,000 0 28,000
= 14,000
= 14,000
307 QI2t0IA 28,000 0 28,000
= 14,000
= 14,000
02 QltF&E=X 28,000 0 28,000
O==22249 & 14,000,000 » 2% 28,000
= 14,000
[ 14,000
SMEAIIEIEH 407,694 336,454 71,240
= 10,620
s 303,600
= 24,285
= 69,189
LS AIE(ZH]) 379,500 329,500 50,000
s 303,600
& 18,975
i 56,925
401 AIEHIL=ROY| 379,500 329,500 50,000
s 303,600
L= 18,975
i 56,925
01 Al&HI 369,255 310,900 58,355
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SN NYBAD
Zy: A2 RS

EH9l MEHHI|BEM (649 &2
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot Hlws2
SEEEE 369,255
gl 182,943,000 182,943
2 146,354
= 9,147
2 27,442
S 118,812,000 118,812
2 95,050
= 5,941
2 17,821
2 67,500,000 67,500
2 54,000
& 3,375
2 10,125
03 A& 10,245 18,600 £8,355
oYz 10,245,000 10,245
i 8,196
= 512
= 1,537
AT AIE (2HI) 6,954 6,954 0
101 o121l 3,954 3,954 0
10 JRAM2ENE2+ 3,954 3,954 0
ORpATHNL AL 3,954,000 3,954
201 Yoyl 3,000 3,000 0
01 A2zl 3,000 3,000 0
oYz 3,000
—ZRUYTRNTE UYL 3,000,000 3,000
WEEL-DEESFE 10,800 0 10,800
= 5,400
= 2,700
2 2,700
402 PIAXHROIH 10,800 0 10,800
=2 5,400
= 2,700
2 2,700
EEEEES 10,800 0 10,800
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S MEBADL
S A KRS
CHol: AR AT BN 9@
SN HB - S2(3H) - MEAY - BAS Abol e HRZ2
Ot 3 A& &4 10,800 * 1,000ha 10,800
= 5,400
= 2,700
= 2,700
SSIILLZ=HA HEE AL 10,440 0 10,440
= 5,220
& 2,610
iy 2,610
402 QIZ2EXE0| A 10,440 0 10,440
= 5,220
& 2,610
iy 2,610
01 oI2tEEX 10,440 0 10,440
OZdgaxagz K& 10,440,000 * 1km 10,440
= 5,220
= 2,610
= 2,610
MEASAIS 284,320 171,066 113,254
= 124,860
= 62,230
o 97,230
AM=FSAA 163,920 52,656 111,264
= 81,960
& 40,980
o 40,980
402 QIZ2EXE0| A 163,920 52,656 111,264
= 81,960
& 40,980
o 40,980
01 oI2tE8EX 163,920 52,656 111,264
OYUERESX A 163,920
—UAMSHEZ=SG 54,960,000 * 2JH 2~ 109,920
= 54,960
o= 27,480
= 27,480
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SN NYBAD
Zo: g KR s

EH9l: MEIASAIY (el @a
SN C(BH) - NRAY - HES 0l &k o Soe HlmE2
BTN ESTESE 54,000,000 * 1HZ 52,000
2 27,000
c 13,500
2 13,500
e L 85,400 41,850 43,550
= 42,900
< 21,250
2 21,250
02 D120 85,400 41,850 43,550
2 42,900
< 21,250
2 21,250
0l SUNERE 85,400 41,850 13,550
OBHSHZ Al L X 315,000 * 70ha 22,050
= 15,750
c 3,150
2 3,150
OLHRIBHOI T A 63,350
—g=R 1,050,000 * 174 17,850
= 7,650
< 5,100
2 5,100
—maRap 3,033,333 * 150} 45,500
= 19,500
< 13,000
2 13,000
X MNST XA 35,000 0 35,000
207 1N 35,000 0 35,000
IRCEEET 35,000 0 35,000
O MH4SD NH 35,000,000 35,000
Tee 25 506,560 496,560 10,000
< 176,000
2 330,560
a2 506560 496,560 10,000
< 176,000
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SN AT
Hal: GoiEy 25
ool 2R (5l &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il i~ o Rz
=L T 2 330,560
CONTERH 2% L 22 176,000 176,000 0
= 176,000
101 QI8 81,500 81,500 0
= 81,500
10 JIZHI2NERS 81,500 81,500 0
OSINTBH 2Y 22l X 81,500
— o121yl 76,440,000 76,440
= 76,440
~-282 4,150,000 4,150
= 4,150
— =) 910,000 910
= 910
201 er2g| 32,500 18,500 14,000
= 32,500
01 At 22l 18,000 18,500 A500
OgurLgH| 15,000,000 15,000
= 15,000
ozl 3,000,000 3,000
= 3,000
02 ZZ2YHI 14,500 0 14,500
OZZRIYLHA 2,500,000 2,500
= 2,500
OXt2red et 10,000,000 10,000
= 10,000
OF A FHI S XY 2,000,000 2,000
= 2,000
202 OiHl 4,000 4,000 0
= 4,000
01 =LHoit] 4,000 4,000 0
OSINTBH 2Y 22l X
4,000,000 4,000
= 4,000
401 A&HILLHH 58,000 70,000 A 12,000
= 58,000
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SN AT
Hal: GoiEy 25
ool 2R (5l &2
_ _ SIEN
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il i~ o Rz
01 Al&H] 58,000 70,000 212,000
OLIoIMTRIBRR 58,000,000 58,000
= 58,000
YR A PEBH AIRK 042 300,000 300,000 0
401 ASHLLHH 300,000 300,000 0
01 Al&H] 300,000 300,000 0
OYXNMZYTH ARK WY 300,000,000 300,000
YR & ZEBH BRI 30,560 20,560 10,000
201 er2g| 10,560 560 10,000
01 At 2el| 10,560 560 10,000
OYXNMZYBR ZHIYXE 10,000,000 10,000
ORYZAANE BH2Y 560,000 560
401 ASHILLHY 20,000 20,000 0
01 Al&H] 20,000 20,000 0
OYXNMZYBR 2 22 20,000,000 20,000
HHS AP (MY TR 39,240 41,055 A1,815
ol 2ol (MDA 3,000 3,000 0
ol 2| 3,000 3,000 0
203 Y= 3,000 3,000 0
04 RASYYARETY| 3,000 3,000 0
ORNSYLRTTH (MY BAD)
250,000 * 128 3,000
p[CETIONEE=ET0) 36,240 38,055 A1,815
[T 36,240 38,055 A1,815
201 gr2g| 14,646 16,055 A1,409
01 At 2el| 14,646 16,055 A1,409
OgurxgH| 12,646
—Z AT (M) 16,500 * 1004 Xt 1,650
—=SAE XY (84) 27,000 * 154Xt 405
—=ADIEY 180,000 * 1074 1,800
— NSRS Ot ¥ Htold 2 2,200,000 2,200
~ZEEDAUH EY ¥ =¥
200,000 * 87 * 33 4,800
—FAXEU JtERIX 145,200 * 1CH * 23] 291
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